Point of division (HKMO Classified Questions by topics)

1986 FG7.2

M~N &= %(3,2)%(9,5)° & P(s, )5 MN } — 8. MP:PN=4:2 >
FeseniE o

M, N are the points (3, 2) and (9, 5) respectively.

If P(s, t) is a point on MN such that MP : PN =4 : 2, find the value of s .
1987 F13.2

Py Q2 &8z 5 (a,2)% (30,-6) -

F PO ¢ Bhz R i (18,b) 0 fa g o

The coordinates of the points P and Q are (a, 2) and (30, —6) respectively.
If the coordinates of the mid-point of PQ is (18, b), find the value of a.
1989 HGS

AQ2,3) ¥ B(17,23) i B2 2x—y=7 * P & % Hig o

The line joining 4(2, 3) and B(17, 23) meets the line 2x—y =7 at P.
Find the value of AP .
PB

1989 FI4.3
M2 Nik=x&_(1,2)~(11,7) % 8 - Pa, b))&_MN } - 8 MP:PN=1:
4o Fqenig o
M and N are the points (1, 2) and (11, 7) respectively. P(a, b) is a point on MN
such that MP : PN =1 : 4. Find the value of a .
1990 HG3
A~B~C%2 Dtz E(10,1)~(1,7)~(-2,1) 2 (1,3)-
AB ¥ CD fp R 3t P o R 4P A o
PB
The coordinates of 4, B, C and D are (10, 1), (1, 7), (-2, 1) and (1, 3) respectively.

AB and CD meet at P. Find the value of % .
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2007 HG4
w8 4~B 2 Ceodkfgru s (3,4)~(6,-4) %2 (8,10)-
M % N »% i AB % BCiP Bho X 5 AN} — B3 18 AX 1 XN=2:1-
Fr= )C(_j\)j v R EE o
Given that the coordinates of the points 4, B and C are (3, 4), (6, —4) and (8,10)

respectively. M and N are the midpoints of AB and BC respectively. X is a point

on AN such that AX : XN=2: 1. IfrZ%, find the value of r.
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